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ords to make a meaningful sentence -

. Rearrange the followmg W

Always, homework, her, she,
() Her homework she alway

)
(B) She always does her homework of (e
Y

(C) On time she does T HOMEWOLR &iways

on time, does
¢ on time does

)
(D) She does always her homework on time

uf of the bag”
) (Causet trouble
(l)) Reveal a secret unintentionaily

79, (hoose the correct meaning of the idiom “Let the cat 0
(A) Set a pet free
(C) Be kind to someone



1, Pick the correct word

The minister gave & long on climate change.

(A) Delusion B Blusion

(€) Ilugion D) Alluson

T4, Select the correct option
His argument is full oflogieal _____
(A) Pallaies B) Fantasies
(0) Facades D) acultes



7, Whihwond e exclythesmewa s wer iy
) Verbotn B) Onally
(C) Verball D) dame

6, Thereisanewstar  thehorzon,
(f\) I (B) on
(0) af D) under



11, Theelephant
(A) Roars
() Trumpets

18, What i the synonym of rustc”

(A) Rural
() Music

(B) Hisses
(D) Grunts

(B) Song
(D) Pastoral




79, Choose the grammatically correct sentence
(A) The auditorium as well as its premises were crowded with people
(B) The auditorium as well as its premises are crowded with people
(0
(

D) The auditorium as well as 1ts premises crowded with people

)
) The auditorium as well as its premises was crowded with people
)

80, What ia the ane ward for “a thing that cannot be avoided”?

(A) Inevitable (B) Credible
(C) Avoidable (D) Irrevocable




81. Convert the following sentence into reported speech :
“How often do you go to the cinema?”

Choose the correct answer from the following options.
(I)  She asked me how often I went to the cinema.
(I)  She asked me how often I would go to the cinema.
(IIT) She asked me whether I go to the cinema often.
(IV) None of the above
@ O ® @
© @) (@

Change the following into compound sentence.
To his eternal disgrace, he betrayed his coux?try.
()  Betraying his county was an eternal disgrace.
red hi 7 to hi | disgrace.

(IT) He betrayed his country to his eterna : : ;
(IIT) He betrayed his country and this was to his eternal disgrac
(TV) None of the above

@ O ® @

© @ (]_)) (111)




83. What does the phrasal verb ‘clam up’ mean’

() toact strictly

(I1) to refuse to speak
(IT) to find by chance
(IV) None of the above

@ @)
(C) (I

. They did not go to Vienna last week,
Choose the correct question tag from the following :
() are they’
(1) didn’t they?
(II) haven't they’
(IV) did they?
(A) ()

€ @)




bird in hand is worth two In

Fill in the blank spaces using articles.
() The, &, the
(H) A, the, a
(II) A, the, the
(V) Aaa
(A)_(I)
(C) ()



entri

86.

D)

What are you looking ?
f’

(a)
re you thinking . g

(b) What a

Use correct prepositions :

() at of
(I at, at

(1) of, at
(B) (110)

”\) af af
A D
@ @

V) uy
That you have come pleases me :
Identify the ty i '

\ ype of clause in the above sentence from the following options:

() adverb clause
(I) noun clause
(I11) adjective clause
(IV) none of the above
4 av
© B) 1D
D) @O




) entri
88. Past tense of ‘speed’ is :
(I) spud
(IT) speed
(ITI) spade
(IV) sped
A @
(C) ()

89. Take this and give that.

In the above sentence ‘and’ has the function of a

(I) relative adverb

(I) conjunction

(IIT) relative pronoun

(IV) none of the above
a) 1) (B) (I
© @ (L) (D




) entri

90, Change the voice of the following sentence -
[ shall be obliged to go,
() Cannot be changed
(Il Circumstanceg wj] obli
(D) o obliged to go
None of the above

8¢ me to go




According to Krashen, the

‘Monitor' functions in language production by

(A) (in-m'rulmu new language based on input

(B)

;\umnmtivnlly producing fluent speech

(C) Filtering out unnecessary language input

(D) ('orrecting utterances using learned grammar rules

jation ¢  tools?
| ' ' ation chart as key tools
92, Which method uses Cuisenaire rods and a colour-coded pronunci

= J h
(A) The Direct Mothod (B) The Natural Approac

| Silent Way
(C) Task-Based Learning D) e




A test that consistently gives similar results across administrations, but fails to measure
what it claims to measure, can be described as :

(A) Valid but not reliable

(B) Reliable but not valid

(C) Both valid and reliable

(D) Neither valid nor reliable

In the context of the NCF and KCF, inclusive education is best understood as :
(A) Providing special schools for children with disabilities

(B) Creating uniform curricula for all learners

(C) Enabling every learner, regardless of background or ability, to participate

meaningfully in mainstream education

(D) Tracking students based on ability and segregating instruction




) entri
95, In reading, the abiiy todistinguish between fact and opinion is best classifed as
(A) A grammatical sub-skill

(B) A decoding sub-skill

() A enitical reading sub-skill

(D) A skimming sub-skill




-;ummrh-d by ICT l‘r““"”l." benefits learner® by:

model
sty before learnin

96. The Mlipped classroom
g content

(A) Allowing them to cor

loarning 10

npll'lv {

in-class time

(B) Shifting passive
agement with content hefore class
corded lectures

(C) Enabling self-paced eng
) with re

W) Keplacing clagsroom int(-ru('tim

97. o' T
[n prose teaching, the top-down approach focuses on

g the text as & whole
und knowledge

(A) Analysing sentence structure before readin

nd infer using backgro
prose passages

(B) Encouraging students to predict a

(C) Teaching gre
Teaching grammar rules first, then applying them in

(D) Starting with v
g with vocabulary and then moving to comprehension




(=) entri

98. In Krashen's Input Hypothesis, comprehensible Input is defined as : |
(A) Language input that learners can understand and repeat accurt.lte y
(B) Language input slightly above the current level of competence (i+1)
(C) Any input received in a formal classroom setting

(D) Grammar-focused input with immediate feedback

99. Which of the following test types is most suited for measuring interla

nguage development

over time?
(A)  Summative tests

Standardised achievement tests

Portfolio-based assessments

UI0Ze tests



100, A Unjuergg] Design for Lo

arning (UDL)




L.

Which of the following statement is/are incorrect?
() The First All Kerala Provincial Conference conducted at Manjeri in 1921
(ID) - The above conference was presided over by Sri. T. Prakasham

(IT) Malabar rebellion also broke out in 1921

(IV) The first planned and direct attack during Malabar rebellion was held g
Pookkottur in'August 1921

(A) Only(D) (B) Only (I)
(C)  Only (1L1) @) Only (IV)

The portal started by Government of Kerala to get the services and proceedings of
Gramapanchayat to public :
(A) Friends - (B)
(C) E office portal (D) Sampoorna Portal

(itizen Portal



, Inwhich year Covid Vaccine started in India”
(A) 2021 Jamuary 14 (B) 2021 January 13
(0) 2021 January 16 ) 0 Janvay 17

1 Which oountr s hostng the 2026 Commonsiealth Games!

(A) Swtzerland B) Austraa
(€) Ireland D) Sootland




) entri
5, What is the name of the latest Space mission launched by ISRO?

(A) PSLV-C 61/E0S-09 (3) Aditya-L1
(C) Gaganyaan-] () VGSAT-29

6, Which of the following statement is/are incorrect about Renaissance
() Historians used the term Renaissance to describe the cultural change
from nineteenth century

g of Europe

() The historian who emphasized these most was Jacob Burckhardt

(1) By birth he was a German
(IV) He was a student of a German historian Von Ranke

(8) Only(D

(A) Only (1) and (ID
D) Only() and (V)

(C) Only (I




Which of the following statement is/are correct about Renaissance women Cassandra
Fedele?
(I) Cassandra Fidel questioned the idea that women were incapable of achieving the
qualities of a humanist scholar
(I) She was invited to give orations at the University of Bologna
(III) She criticized the republic for giving limited frosdom!to Womma
(IV) She belonged to Florence
(A) _Only (D (B)

(C) Only () and (III) (D)

Only (I1)
Only (IT) and (IV)
Find the two incorrect statements about Reformation movement in Christianity :
(D In 1516 a German monk called Martin Luthey launched -

: _ a campaign against
Catholic Church &

(II) This movement is also known as Protestant Reformation

(IIT) In Switzerland Luther’s ideas were popularized by Ulrich Zwingli

&5 S PRI RIS OOy O SEU AP Ui STty of Jesus in 1541

(A) Only (I) and (IT)

(B) Only (II) and (TI1)
(C) Only (I) and (IIT)

(D) Only (I) and (IV)




Which of the following statement is/are incorrect?

@
(ID)
(IIT)
Iv)

English E

ast India Company introduced Permanent Settlement in Be

ngal in 1793
Maharaja Mehtab Chand was the Raja of Bengal in 1793

Maharaja Mehtab Chand helped the British

Charles Cornwallis was the Governor (
Settlement was introduced

(A) Only (I)
(C) Only (ITT) and (IV)

during the Santhal rebellion

seneral of Bengal when Permanent

(B) Only (I1)

(U) vniy (1) ana (1v)

[dentify the person mentioned in the following statements :

(D
(48]
(I11)
Ivy

He lived in a large village in pargana Barout in Uttar Pradesh
He belonged to a clan of Jat Cultivators
He mobilized the headmen and cultivators against the British

He was killed in battle in July 1857
(A)  Danka Shah (B) Gonoo .
(C) Shah Mal (D) Kadam Singh



Find out the person who delivered following words.

There is no salvation for India unless you strip .\'“Ur-“'“” of this jewellery and hald it in
trust for your countrymen in India :

(A) Jawaharlal Nehry @)._Suhash Chandra Bose

(C) Maulana Azad (D) Mahatma Gandhi

The following is a statement delivered by Mahatma Gandhi. [dentify the publication in

which it was published “Khadar does not seek to destroy all machinery but it does

regulate its use and check its weedy growth”

(A) Young India (B) Indian Opinion

(C) Harijan (D) Navjivan



13. In which session of Indian national congress, the following resolutions were passed :

(I)  Jawaharlal Nehru was elected as the President of Indian National Congress

(I) Proclamation of Poorna Swaraj

(I Decided to celebrate 26 January, 1930 as Independence Day
(A) Bombay (B) Karachi
(C) Madras (D) Lahore

Which of the following statement is/are correct?

(I) Wavell Plan was introduced in 1945 July

(1) Cabinet Mission reached India in 1946, March

(1)) Muslim League called for Direct Action in 1946, August

(IV) Mount Batten announced plan for dividing India in 1947, August
(A) Only (I) (B) Only (I) and (IV)
(C) Only (IT) and (I11) (D) Only (IV)




15, Although & tehl, Peches Rajnwas one of the natual chifens of the ounty and

might e onsdered o tha acount ther  fallenenemy - Who made sch  comment

on Pazhasi Rae!

H)MMMMM (6) Thomas Harvey baoer

(() K. Paiker (0) Wilam Logan




Which among the following 18 wrongly matcheq?

Yaoaea of Cornitive developme A
(A) Stages of Cognitave pment Piaget

) Socio Cultural Theory >
(1 ot \y;:nl<k\‘

(C) Discovery Learning
Bruner

(D) Multiple inteliigence
(Giagne

Which among the following statements are correct gl Mi hing?
: ' *L about Microteaching’
(I) It is a teacher training tcchniqu@

(IT) It is a method of classroom instruct;
g on

(I1I) Feedback is provided immediate]y
(A) Only (I &ID :
(C) Only (I1 & 111)

after the completion of the lesson.

(B) " Only (I & IID)

(D) RiI'of the above (I, 11 & 111)



18, Which among the following Model does not belong to the

(B)

(D)

Information Processing Family?
(4) Concept Attainment

Direct Instruction
(©) Advance Organiser [nquiry Training
Which among the following are correct about Preparatory Stage as stated in NCF 20937

(I Language Learning for I’rvparau)ry St

age have been set for three |

anguages within
Language Education (RI, R2 and R3).

(I) Preparatory Stage is for students aged between & and 11.

(IT) Work and pre-vocational skills are included as part of The World Around Us
Cuszioulu,
(A)  All of the above (I, IT & I11)

(3) Only (I &11ID
(C) Only (11 & I11)

(D) Only (T &1



U0, Which among the following statements are correct ah

out Revised Bloom's Taxonomy?

) The difforent types and Jevels of knowledge in revised |

axonomy = factual,
conceptual, procedural and metacognitive,

(L) Tn 2001, Bloom’s Taxonomy was revised by Lorin Andetson and David Krathwoh!.

() The revised taxonomy  includes Remembering, - Understanding Applying,

Analyzing, Evaluating and Creating
(A) z\”Uflht':lllu\'q'll,”&l”) (B) ()lll_\'(l&““
() Only (IT & I11) ) Only (1&0)
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l‘\) Hmdi ‘B) U]'(hl
) ”vngu]i (1) En;{llrth

22. Wh() I.\‘ UlVSb(‘S S()n m(‘ml()m)d m th(\ p()(lm |)\ 'l‘tunn'\’l\'ﬂl]? I] q
(f\) Achi“vs (B) Pytrocius
(O) Telemachus ) Hoctor

A



"~

23 l 1t
«In"An Introduction,
troduction,” what does Kamala Das assert

(A
) :: Hh;)]uld follow st it grAmmar p1le8
| f
3 half English and half Tndian, hut entirely

(B)
(
t ) [t must always be I Malayalam

about the language she writes in’

|y her oWn

D) I

i tis borsowed from Brtish poets
; nu llcaulwl| ) ‘

(A) \ \l CQuld oot stop for Death” what dops the carmiage rid ultmtel symbole

; A trip to the countryside

( ) 1\ Ourney lhmnuh mn. 110

() The transition from life to dt

(O An escape from daily respons!

th and toward ity
(hilities



A mﬂmhanNmmmeMMdmm

UHmemmeﬁﬁﬂwﬁmn
(A) ﬂwwmmymmmmwmuk

(0) Totern AbeY

MﬂwnMMwMMngnmm
f

hotiveen the lovers [0%
() Compass tht
(B) Awmwﬁmn%mw

96, InA Vole

AmmmmmmWMWmemt
AwMMwnMwmpMmmwy

()

e the poet

) Naffodils
m)smmwmmw

'mmmemvwnmmeM

Muwmmwmh

nwmmmmeﬁwmmwd




D) Ape \ pendulum SWIDE

1ck teephone’ off ot the

97, What does the b
(A) The sped
(B) T speaker s &

father
\
\

19 § overed ¢

ho speaker 1
e speaker 18 04T
doscribes the

U
(D)

98, Which of lh( following best €€

1081 t’ws
(A) Play ful and toman e

(() Angry ¢ and tevolutiondy

i has losthet ability fo.hea
o emotiond .md 0

'« aftaid to communk
yory With the worl

in Sylvia Pla lath's Dadd)y!

ot 8y mhnlue

sychologia connection Wit
icate her trauma

tone of Mathew Anold's “Dhover Boach

(B) elancholic and e Joctve
(b~ idactc and satird

flot throug

ith her

"9l

h ts contrast




0, WMNmMMMwMMuMmTv
(A) Helplessness
() Anger D) Mockery

(() Angry anaretv
%.WMMWMMmewmwmmmM@MHM%mmmMﬂmm@Mmmw
Mwhwquﬂwwmkmmw?
(;\) [Ihanization.s wiral heanty
W)SWWVWﬁwMMManM
NW\WN&Wmﬂmewwam
D) ﬂMWwH&ﬂWmmmﬂmeW
W&ﬁmeMW
(B) Courage

i society

!mMmUmwwMM

. signifyn



31 Which of the following best captures the symbolic significance of the

32,

» sea 1n J.M. Synge's

Riders to the Seq”
(A)  The sea represents a source of economic prosperity and hope for the islanders,
a8 1t nrovides them with fich and trade n!\!)l)rll]mf‘.t‘.\

(B) The sea symbolizes the ultimate antagonist, embodying both the Phyﬂf?ll and
existential threats that challenge the islanders’ survival and resilience
THE SEQ Serves as a metaphor for the unchanging (radicions Wil w;t.umi
heritage of the island community, offering a sense of stability and continuity

(D) The sea is depicted as a nurturing maternal, figure, offering comfort and
solace to the grieving characters throughout the play

In Waiting for Godot. the characters Viadimir and Estragon engage in various activities
10 pASS the tims whils weete! \ : - 2 , m
Tl ,‘h‘ time while waiting for Godot, Which of the following activities do they NOT
engage in during the play?

W) Discussing philosophical ideas (B) Attempting to hang themselves

‘(" Nan A O ') " "o o ‘ g
Flaying @ game of chess (D) Swapping hats with each other

|




i }thvh 0F thefollowing est desribe the

symbolic significance of the glass menagenie In
lennessee Williame! olay’?

W) 1t represents Laures agility and the ilusory nature of her world

)1 symbolses Amanda' dosiet el b past a3 4 Southern bell

(©) It reflects Tom's dreams of adventure and escape from his responsibilties

) [t signifies Jim's ambitions and the potential for future sucoess

at traditional ndinn performance fory d
from’

MW e the play Nogamandala draw inspirtio

(A) Maach
() Jotra

(B) Yakshagana
(D) Bhavai



e entri 35. Sheridan’s The School for Scandal is often 1

wit. However, in what way does Sheridan refine the traditional
tastes of hl." (lﬂ\'. particularly when l'nmnln-nd ta oaulion D

(A)
(B)
(C)

(D)

auded for its brilliant and general satirical
comedic model to suit the
I T L ) 11 1 o

By intensifying the scandalous situations to critique the moral decay of the
upper class more explicitly
Dy creating characters with more obvious and exaggerated flaws to ensure
the audience clearly understands the moral lessons

By softening the portrayal of characters like Lady Teazle, blending innocence
and sophistication to appeal to more refined sensibilities

By incorporating elements of sentimental comedy to evoke sympathy for the
characters’ distresses rather than focusing on their faults

36. In Death of a Salesman, how does Willy Loman's perception of success contribute to his
tragic downfall?

(A)

(B)

He measures success solely by financial wealth, leading him to disregard
personal happiness and integrity

He believes success 1s achieved through teamwork and collaboration, which
1solates him from his family

He defines success as being content with one's life. causing him to become
cnmp]:u‘t*nr and unambitious

He views success as having a stable Job, making him overly cautious and risk-
averse



38.

In George Bernard Shaw’s Pygmailion, the transformation of Eliza Doolittle raises
several themes and questions about social class and identity. Which of thubﬁivlluwmg
Siatements best captures the play’s commentary on the nature of social mobility an

identity?
A)

(B)
©

D)

Social mobility is easily achievable through changes in outward appearance

and behaviour alone 3 )
T idantiter o Eead 3 _____. 1. oliaraed he changes in speech or manners

The superficial aspects of social class, such as language and etiquette, are

arbitrary and do not define one'’s true worth or identity

. v aue SN
I'ne success of Eliza’'s transformation 1s solely due€ 1O Iruit
expertise and guidance

ILIERLIS S

In Act IV, Scene I of Macbeth, the witches present Macbeth with a series of apparitions

that deliver prophecies. What is the significance of the third apparition, and how does it

influence Machoth’e actions lator in tho nlav?

(A)

The third apparition is a crowned child holding a tree, which sigmfies that
Macbeth will never be defeated until Birnam Wood comes to Dl{nsmane Hill.
This prophecy gives Macbeth a false sense of security, as he believes such an
event is impossible, leading him to underestimate the threat posed by
Malcolm's forces.

I'he third apparition 1s a bloody child, which signifies that no man born of a
woman will harm Macbeth. This prophecy emboldens Macbeth, making him
overconfident and dismissive of potential threats, as he interprets it to mean
he is invincible.

The third apparition is an armed head, which warns Macbeth to beware
Macduff. This prophecy directly influences Macbeth to order the murder of
Macduff's family, although he ultimately fails to eliminate Macduff himself
The third apparition is a line of eight kings, with the last king holding a
mirror. This apparition signifies the continuation of Banquo's lineage,
unsettling Macbeth as it reaffirms the witches’ initial prophecy that Banquo's
descendants will inherit the throne




What is the full title of Oscar Wilde's play The Imnoriance of Reing Earmoos?
(A) The Importance of Being Earnest: A Trivial Comedy for Serious Peonle
u:%; THE Tmportance of Being Earnest: A Serious Comedy for Trivial People
(C) The Importance of Being Earnest: A Play of Manners
(D) The Importance of Being Earnest; A Comedy of Errors

In A Doll’s House, the character of Nora Helmer undergoes significant development.
Which of the following actions best exemplifies her transformation and challenges the
societal norms of 19 century Europe?
(A) Nora’s decision to secretly borrow money to save her husband'’s life,
demonstrating her willingness to take on traditionally male responsibilities
(B) Nora’s choice to confide in Mrs. Linde about her financial troubles,
illustrating the importance of female friendship and solidarity
(C) * Nora’s insistence on performing the tarantella dance, symbolising her desire
to maintain her huchond’s o0 ..

. .
TSR RIVAG Qv appiuyal

(D) Nora’s ultimate decision to leave her husband and children, rejecting societs ]
€Xpectations and seeking personal freedom and identity



AﬂLMWMMWWMWMMWMdmmﬂmmmmmmmmwmmmm

nndeHM%ﬂnuumﬂnmofﬂmﬂmg?
((\: ::;l]m:;" | (B) King Lear
‘ )10

St (D) Romeo

ﬂ.mmmwmwMAMMWmm A RN
Beasts of England’] Who inspire the rehelion with his SR speech and
(A) Napolean i
(©) 0ld Major m; Bnowball
) Boxer



. What s the mai 86 xplored i A oyt vl The God Of Sl
Things”

(A) Globalzation

i S (B) Politeal actsm
(() Environmegtal sygee

(D) Forbidden love

44, T which noveldogs Toni Mopriggn l
eyes of the profagonist Peggl?

(&) The Blust Bye
©) Jom

00k it the impac ofcildhood trauma through he

m\ Lﬂ\ 6
(D) Tar Baby



4. Aot t Bt R“SSQH Whih period brought a genenal pespectfor teaching and o
(onsiderahle maagyma ot

oceeaonrtothe teacher!
() Renaissance

(B) Reformation
() Victorian Period

D) Medieval Period

46, Which book does B.M. Rorster tefert0 a3 the Bible of Tolerance!

(A) The Divine Comedy (B) Epistles
V) A Modern Sympostum

(D) AGreek view of Lif



41, Whataoonting o e s il om0 the sy 0 he ol e !

) Stertig B) Libry

-

(0) Heroim D) Telerane

48, Whatisthe comon gulof i ng elin that . Radh
esay “Humanites v Siencas”

) Kaorlede B) Quest o Toth
(0) Bdueatio

gk penfones i hi

() Bonomie Development



49, To which genre does George Orwells Animal o Delong fo?

(A) Science fction (B)  Historical fition

(O Dstopianfeion (D) Realisteicton

o0, In"On Tolerance' B, Rovster talks of three states of
World. The séoond state o mind that people may adopt i

() Sympathy (B) Lo
(

nd 10 e adopted for g beter

() Nazi solution

D) Put ourselves nothers Dlace



In Towards q Feminist Poetics, §

women's literary history, Which of
(A) The Feminine Phase
(C) The Female Phase

howalter outlines three phases in the evolution of
the following is not one of those phases?
(B) The Feminist Phase
(D) The Famina Phase

icati iel Garcia Mérquez's
Which of the following years marks the first publication of Gabriel G

i defining work of
e novel One Hundred Years of Solitude. often considered a
magical realism?

A) 1955 !
©) 1973 D) 1982

(B) 1967



53. According to Freudian Psychoanalytic literary theory, which part of the psyche is

associated with moral conscience and social norms, often in conflict with unconscious

desires?
(A)
(€)

Id (B) Ego
Superego (D) Libido

54. The concept of ‘differance” is central to deconstruction. What does it imply?

(8)

-
Fa n Y

\)
©
D)

The endless deferral and difference of meaning in language

m ~ 1 ’ P sy "
11T LUACTU LUTallllg Ul a WCAL

The clear distinction between signifier and signified

The dominance of speech over writing




99, Which of the following Rasas is considered not originally listed among the eight Rasas in
Bharata’s Natyashastra, but was added later by Abhinavagupta and other scholars?
(A) Veera (B) Shanta
(C) Bhayanaka (D) Adbhuta

56, Which of the following correctly compares a central concept in Bharata's Natyashastra
with Aristotle’s Poetics? |

(A) Rasain Natyashastra is equivalent to mimesis in Poetics
(B) Sthayi Bhava in Natyashastra corresponds to catharsis in Poetics
(C) Dhvani in Natyashastra is the same as mythos in Poetics

(D) Rasa in Natyashastra is comparable to catharsis in Poetics




57. In the Preface to Lyrical Ballads, Wordswoyt}h, argues that the language of poetry should
be:

(AN ishly avnamental and ala. .
; o0 2%

B) The real language of men in g State of vivid ti
{ sensation

() __Tdentical to the languace 3132
. “=wyTule nobity

(D) Filled with mythological allusiong and epic
ic tone

58. In The Study of Poetry, Matthew

A
R rold argues that poetry should be :
(A) Primarily a source of entertainment ang Jo;

isure

(B) Judged by its adherence tn alan: . 4 o
“viuas dna rnyme

(C) A substitute for religion and philosophy

in modern life
() Focused solely on expressing Personal emotjq
> ns



59. According to Eliot’s Tradition and the Indiv

poetry?
A)
(B)
©
(D)

idual Talent, how should emotion function in

The poet must directly express personal feelings and experiences

Emotion in noetrv chonld ha wos - S
S W Il

The poet should fuse emotion and experience into an impersonal work of art

Only emotions based on real-life tracadios awa salid i -

D e ]

60. According to Saussure, which of the following best describes the nature of language as a

system of signs?

(A)
(B)
(©)
(D)

Language is a collection of individual words with fixed meanings

Language is a linear sequence of sounds governed by physical laws

Language reflects the divine essence of human thought

Language is a structured system where signs derive meaning through their

differences from one another




1, Ldentfythepairof omophgneg om amang the fllowing:
() Heir and iy (B) Iandeye

(C) Flour and flower (D) All the above

62, (&) Phonatory system consists o the laryns,

) Anteulatory ssten consists of the pharynx. |
Choose the copyeet option :
(A) Both (3) and (b) are true (B) Bot.h (8) 'an: (:szz;rles f;l::
(©) (e) 15 true but, (1) s fulse (D) (a)1sfalse bu




b3, The English word ‘ducation'is borsowed from:
() French ®) Latin
(€) Scandingvian (D) None of the above

B4, The Centur/Satem division n Indo-Buropean Janguage 8 based on:

() Vowel system diffenences
(B) Treatment of Proto-Indo-Buropean Palatal

)
(C)Stress pattern variations

(D) Morphological case systems




8, Whichof the flvingompoundwods laces primry s he tondclemen!
() Footbal () Bod empered
(0) Toothbrush (D) Teapot

08, Which ofthe follwing 1 & i ol stop consnant?
Wn B) M
i 0) 1

|
(0




67, The morpheme *tion'in ‘education’is classified
(A) " A derivational suffx that nominalzes verbs

(B) Aninflctional suffx that marks plurality

(€) A dervational prefix that orms adjectives
(D) None ofthe above

08, Whih o the following pins of words s en exampl of  minimal pa!
() Boot:Book B) CutCap
(0) Stupheep D) Cook: oo



ﬁgﬁe \ |
(&) entri

09, [dentify the transcription o the word cimb',
A) el B) i
(0) e D) MKlaimp!

10, Which among thefolowing 1 2 Kemnel!
() TheletterwaswritenbyAnu ~ (B) Kiranis otooming o theprk
(€) The gun rises nthe eas (D) Have you finished yourhomesork!




THANK YOU




